2016考研数学模拟题及答案详解

[image: image1.jpg]5. TRUFMR, MBHE S (x0)E (m.00) AMALBSHTHOE ()

B (5 0) =

(A (x0,¥0) = fy (50, 50) = 0 J@ex? + (o)
_sin((An)' +@)h) (40 +)?

(©)Af (x,50) ) (DS (K. 70) = BT TG,

6. &/ (xy) =™ WS (x)ED=((xy) |2} +4 SH L [
' '

(DHERAEERIMEL T (B)E%fﬂég%ﬁ%l\@g":

(O BRAE SRIMEL (D)E%NEEE%ME{%.

7% A= (0@ 05,@), B a6 =1234) %, $NME, RFFAAEE
AKX =0 WEMBFN L = (201074 = 100.)7.0 [
(D, @y HHT (B)ey, o SHIET:

(C) e, BHTH: (D)a,, a B T%.




[image: image2.jpg]8. &A= (@, ), BB GG =12m) %, 4TI E, BHHEETR

AT X5, T BE ARG He e, 20, NBE
(]

(Dm>n,

g
AP=
(CO)VFFTE m M TiEhE po 015 [0]: (D)E BWE AB=0, W B=0.

LB YO REEREE WESAE =YY HERR

«

& _
@’ e, @ e,

3 3 3
) 16+ (B) g ({1 @D 5.




[image: image3.jpg]= EETE: 11168, F@4s, 1.
11 WAy -4y +4y = OMIERA

2.3 z=x/O)+ygm)  EFWE fg —HERTRS N

&z
g =

13, [arcsin x-arccos xdx=

4oLB @ oE L)W T #® SO=00=4 W

i f(X)*f[in(HX)]:

50 P

15 RERRIRE S =x +5+ 5 +ann tans tans, % o MBED
B HEE—TREL.

16. BEHL »a >0, BAE(x-)" +y* = o e y st — BT ABEA IR
FmIA





[image: image4.jpg]= REE
7. & z=fx) WEXF:

1
JOD= Fm. HEBLEMER . EERAS,

o = S Gy 1)1 =012,
FBEE (a,) ks, 3% L% prfe,
15 %7 OEOQLHER, 7O)=0.7) > 0,21 Ay=70),

xs2
= 0R x = o EFRE AR E8B: 3

19. % f(®)7E [0 6] EANRY, BR_MNERSE, ®E /(@) =/0),
Sl@)=0.E88: (1) Fce@d), B8/ Hy=SOBRE (D

ey 2 J ) - f@)
Iel@h), @E%f @ é-a




[image: image5.jpg]o {th"1+3"+x",x>0
e
. #® al(l=D+b x50 x_o M AF R ab BRH

[r@as,

s
20 HsE Y = cosx S pt v e © D A TR RIS = asin <

y=bsin (0 <a <b ZFH, Fa,b M

EE
22. R POLDBghit x° +° =1 L EAEENRATSME.

23. R A= (0@, @) 0.0, G RIMAME, @ =0.%48=-0, B

12 3
=|-1 -2 -3|
L] ko4 6 ) FmBE @, a0 N— MEASIETRE, FREAME
AL A

M. iR AR TTRIIRRE, BNl WE 47 - 34=0. BH ARIETREEN—
BEMEX a=11-D7. (1) % ANHIEE (D % AWETHEBKE

WEs (3 4.




[image: image6.jpg]— EE:
) ps (D Bs

@ PO= [:'ds[n’/(z—r)rdr =2 £ @=ryvir,
k4
w=t-rdu=—drF@)= 27rk|‘n’(z —u)f ) = 27!‘|An’f(u)du - 27r‘|:uf(u)du :

WEO= 27r‘|:f(u)du,§;rw\ 2.

3 ¢

B B S0.0=1700=0, T f00=0, FA

(x2 +y%) cos !
e
ATy ool o
o] +5 s P W S (x0) 7 (0.0) THL
@ g
1

arctan =

x BEAAEMS, BW x = +1 ARFRMTR, BEEARRAEdT

AR -




[image: image7.jpg]. garctnt=liscly
H@aHHadt, § X x X Ml

amanl:(x’+1+ 1 [l+0(l3)]:x+u(1)(x%w)
x -1z 7 .

Ry = x RAREAMHTLLE.

(5) pi (6) 4

wAC-B =-1<0, 0.0 FEBMBES. S (xy) EEE pIREERESEA
FRAME, B&A. RMMEERSMDR LHRE.
S Lixy D= + A +4y" -1,
~ye ¥ +2x1=0
1 1

—xe ™ +8yA=0
(== - ), === (= =)

1 1 1 1 1 1
w120 B R R R R




[image: image8.jpg]



[image: image9.jpg]= HEE.
2

i s P2 o,
(A1) y=C 40 +Cpxe™,  (11) 3= Dy e @z =g ),

[$E3

| arcsin xarccos xdx= xarcsin xarccos x++/1- 22 (arceos x— arcsin x) +2x+C,

0 [ arccosx _arcsin x
[ arcsin xarccos xdr= xaresin xarccos x— | x(Cer

#: mT -2 1-2

T S,

arccos x 5
B x T = 1= arccos x—

—

7
x* arccos x— x+C,

¢ arccosx

0 1
| x5 —dx = =1- 2 arcsin x+ [ 1- & x———d

N1-x? 2 1-x?

1= 2% arcsin x+x+C.





[image: image10.jpg]4
(14)

i @S], S0+ 5)

m BT

¢
i = (O e

I3 0

¢ _h(l+x) In(l+x) &
AT R Eh(+0ZA B G ;& <<

x x

m £=0
%

ol
U5) —1<g<2s (16) dx’ab.

B BOSHOSEA  x=btacost,y=ash (051520,
I AT

{2 tn2 2 2
A= 2] KR O + 50 = 2" b +acostyae = dnab |




[image: image11.jpg](155)

a
Fe&' 3 3 5 25

(35%)
1 a

g %o =30+ =012

g =0,a>0, Ba, =0(n=12,),
g = 2a, + )220 y .
F£ E; & (FIEBATHRESNATHREAFED) (55
1

E%‘“m’ 7’“;.):3“:(“’“5)S0v





[image: image12.jpg]FRAS (a,) B, TSRS ()
“
glma, =4, ggi=3@atp =42 s
(E)TS, FRGTEMIEL, DRSS,
(25%)
Loeds 5

s B0 L ] e Bgesmns

mE 73 mm |, /0 7 amgey b @3 (040,
2= 2x. i

S F@ =} =S Od gy poy_o, (s

@ 25 .
Flx)= 5 *gln/(t)dt,F(O):ov
Po=T R L2 rone 0,

B ") >0, FRLA S (x) Eigkgm, F2 F'(x)>0.

(74%)




[image: image13.jpg]F'(x)>0
e |F(0)=0, 8 F(x)>0x>0).

{F’(x)>0
B (F(0)=0, 8 Fx)>0(x>0), KA Fla) >0, BRFRBIL

(o)
(19) 188

() RIE¥E: & S E @)AXRBE FR—BiE RE @HAER
S >0, BRE f(@) = f@)FE.
B ¥ S0E @HNER @0, W@ EEBBEm 8T
Sfila)=0, FUNE (@B S (x) > 0.
Hsh ST [0.0] Liklk, DREATRNME ARAMEMETREERERS
BE], EMWAE 5 € (@8), 8/ (x%)=0, F&. 453)
BITFE ¢ € (a,8), (¢, /() et Ihss.

(2) ABIEATE S € (@.0), BB S(OE-D)-[f(O)-f@]=0, &

SOE-)-[f@O-f@]_,
(E-a)?




[image: image14.jpg]HSHABIEREL:

SOOI aap
gn=

Ox=a > Mgla)=g@)=0. a5

2ime@=tm T D i
I, g0 =l

0229, g g1, Litsh

E (@, B)AS, mPRER, Le(eb), #HL()=0,

SOE-a -/ - f@)] _ iy o L= F@)
5 7 =0 L=
A (¢-a) . WTTE ¢-a) .
)
**x23
FE=130<x<3
©0) B B8 aln(1-x)+5,7<0 )
ERRETE x = 0FERS b= 0, BEHITSHETE = -3, (s
§+C,,x23

[ f(dx= %xuc‘,o <x<3

3x+3In(1- )~ 3xla(1-2)+C,, <0
FRLA 185%)




[image: image15.jpg]H
X +cx23
3

= %xuc,o <x<3

3x+3In(1- 2) = 3xla(1- 1) + C,x 0

(1085)
Qv @

i [Teostdi=1, grmis y=bsin x5 y = asin 1% 5  ERHEBMEHS

1
3

1
A P

?(cos x~ bsin x)dx = sin(arctan £)+b:os(ar:tan g) -

1
b=+ —b=c ﬁbff
\1+b’ A1+8? (655)

3
= asin 115y = cos xRAARAES, * = TN 40




[image: image16.jpg]1 =
af;esin xdr+ [ cos xdr=

ot Tl .5
savl-dfivat =S =amo )
(22) @

FiE—

BREMBHOIEN. x=cos’ty=sin’t, MBH
SO =(-cos?)? +(1-sin*5)? (453)

(€ = 3sin 2u(cost —sin £)(1~sin £ ~ cosf),¢ €[0,27] .

B
2

2 ZaZZox
! )

4710 -0, B

m




[image: image17.jpg]9

. .
FO=/G)=rem=17G)=7

0w, 100 = 1CD =57 w366




[image: image18.jpg]3!
™ /O = Smin f@ =22 .
TR EARER 5. RIEBH )
AEZ
SR ES, BN (-1 + - a5
2 2
SFEyD=x-D +-D +A63 +y7 -, a5

1 At
E=x-14247
pyfmam14gy

k. b4 E i .1 3
Hoyi-(i-y)=0, B+ =1 B
o1 L

(23 =) +y3 D=0, M x=yak = +y3=1,

[CIRES
dx=y @SN 22 202

B

T
20 +y° = BIIEER (+10), (02D, (85)

BT ETESAEES 5. SEEEL |4 (115




[image: image19.jpg]QY M. & w2 B RBE=2 8 45-0. 7 RAH+RB)<3 . B A
a % 0,R(A)21,
FRA R(A) =1, —MBASMTREN a. 253

- +ka =0

{ (2~ By, =0
R (o~ +2a; =0 .

EMk w2, AAG=0, FRG-a =00 =0 =0, 4

0B, R(B)=1 1<R(4 =<2 B a-a+2a =0,

BRA)=1, —AEAGHEREN @, B D "W S =

)
BRA=2, MBFa =0, TWa+26 =0, SRUA=2FE Haoy, o

1
Tk, —MEABETERER @, B G5 1)




[image: image20.jpg][eD)
(1) i ARRBIEEN 1, W AX = A, X = 03% 2 FrdaREnE,
B ARE 4 -34=0, B -3DX=0FRF-31=0,
T A HREER A= 03, Cas)
(2) IR ARBERESE a= (11-17, SRR AR B R E
% RIFHEOBENES X = (5. 5), WE
xtx = =0

LA ARHEm B £ = OLDT .y = (-21-D7. a5

(1159)





